SRR AL (110 4 %)

110 # =30 4 B i 38340
N CIME A N5 )
PP R R g 5 R R
o ST GRD W BARE TG R D P Y 2 TGS SRR, (P T 10069
=M F % 1000801914 5.4 ;¢ W2 ARJIE ¢ TR 1R, (2 A 401-100) %
ZHE SR o Ak Lﬁ%ﬁ_,%mg I S S

- WA FEE CAEPERE R c FRAELISAKARZL KB 2dE F
Ay 2 By = | 2 3% Fgg et R T4 B2 $ER - (25 4)
2P 2P o
(=P/L)
U s A nar e
oy WB
5. 2 P
2L 2L s 2 ﬁ 2 aL g
Ay B,
L (5 35g %) dokyodols
2045 L RAAF AL P TFEAAENTY REF I H T P
[#%1]
> My =0=W-4L(2L) -V, (4L) =0=V, = 2WL = 2P
> Mg =0=-6A L+2P(4L) + 2P(2L) —2M(L) - 2V L =0
:>Ay=P
>F,=0=A -2P-2P+B,—~2WL-V, =0
=B, =7P
T4 R
P
2P 2P W= 1
N N
& | i &NB IC %D
* : : :
Ayl 2o 7o b2 b 4L,
1 1 By .
i, V-dia
o EPE)
L i orL
- , M-dia
\ E (‘EIEE)
-6PL (83 BC BYF 3% » BCD Bt 25— Hiii

Yot - H C 8 R%)
47 %17 2 W B+ 2 JB e =k https://www.public.com.tw




2R (110 4 %)

- Bl - BEdE Hf#,ﬁtﬁ% if#m‘ﬁiikiﬁoﬁﬂrfﬁnTT ° éj\ ﬁ#§4 fé 4o 12
a~fE#b-fFitcap4 23 2 BEFI BX2 By (&7 1 4 FH) (254)
4P
—
2L
s 2
4L
.

Lo (RS ) ok oy
2% BACEB:FELAKd YF=0"TAE~CE% 5 2% £d EBFLl* Tk
("7 L FfF 4B, B>

[#%1]
4p Y F = 0:>J_ . J_E, +4P=0
\2 1 1
%4P YF,=0=—T,, +—+=1, +4P=0
TDE/ Vs Vs
= a=1Ty =-5r Tr =-35P
4p ZF\ Ojiﬂ)ﬁ‘"—TB.’)ZO
\l//TDE \/g ‘\/5
i S F,=0= —=T,, ——=T,, ~T,, ~4P=0
\l/\ TBD ¥ \/— DE \/— BD AD
C=Tap m) 2\/_P /l!) =-—7P
1 > "M, =0=(4P-TP)8L)+4P4L)—4P(6L) - B,(4L)=0
— = B, =-8P
> F =0=B +4P=0= B, =—4P
F=0=—(-T,,+T,.)+B, =0
\/ Z J— BD BI 3
*—> Bx
0 —=b=T, =632P
By
a=-5P (& 4)
b=62P (3= 4)
c=—TP(R+)
B, =—4P (% %)
B, =8P (% T)

2 4F %27 DR E L f}il%w&':é https://www.public.com.tw




AR A (110 4 %)

Z Bl A TR 24 SRED % BYre § A& Db=30cm > BF AR h=70cm - %7a  H 5%
Fe H A o4 4585 544 D250 85 S DI &4E254k 85 > 52 JRED EiRER S dem o R
AT e PR R A R T S 26mm e SR G Bl FEENI IR L 2 REIFRFER S 0 B
bk 55 e REEE &K R 2(254)

D13 4 # 2. % i dp=1.27cm » # & £ Ap=1.27cm* -
D25 4 & 2. ¥ i< dp=2.54cm » # & # Ap=5.07cm” o

30 em

e g

[z4aR8 4]
L (FA%5) 5 kyofolok
2. (mkAAR4E)
WABEEZEZHAAT EMMAHEREWH R FHEE -
@)k RBA TR &3 > TOUBRRFTEH OB O K RIERE -
3. (6 FHE) MBEHRCHEZP3 —T7~P3 -9

CION
OFEF LSS E R e
30 =2(4) + 2(1.27) + 4(2.54) + 35,0t
Snet = 3.1(cm)

O +% 5] E T EES
Smin = max (1.33d%ﬁ v dy 2.56m>
= max(1.33 X 2.5 2.54cm > 2.56m)

= 3.325(cm)
B ERFIEF P LKW )

@33 F %A 54 5 Bl ApEd
30 = 2(4) + 2(1.27) + 2.54 + 35,
S, = 5.64(cm)

@ 1% 2 55 B~ oS Tl P ES
38 x 2800 2t 30 x 2800

b

Smax = min

fs o fs
_ |38 x 2800 30 x 2800
4200 X 3 4200 X

= min[28 > 30] = 28(cm)
3854 850 Pl REEBROK /

*4F % 3F ENCI R A ?il%‘zéf&':é https://www.public.com.tw




SRR R %\ (110 & )

T o~ - 4B 24 S2R A B Mre F & b=30cm > § »iE & d=53cm o & #7 6 -k
4 V= 30tf ”‘ﬁogD13F;@L‘~rF’7,%”"ﬁ¥§'% c B A AR S 2 R R R R S dom o R R
f7:=210kgf/lcm?® » 3 4 4% 55 % %% A& £,,=4200kgf/cm? < — % D134k & 2. 2 j=dp=1.27cm > # & #
Ap=1.27cm? o 2318 ri B F 2 T 4 4w 55 B A B EE o (254)

?1;\
Rt \-

ES
P

L
s

[ 240 42 ]

L (5385 ) 2 kedodovodk

2. (BALRE &)
DF 4 85 ehgd o B & FRERT R =0+ 1)
@R Hd T4 S E A R

3. (k¥ 4% ) METIRCHEPL—5~P4—6

30 x 103 = 0.75 (0.53%(30)(53) + (2 x 1'27)§4200)(53))

s = 20.347(cm)

(:.)%ﬁ?‘p‘}—aj 3 %;2&"‘ FE&E’

V, = 0.53v210(30)(53) = 12212(kgf)

V_30X103 V.=27788(k
s="o75 Ve = (kgf)

2V <V, < 4V,

A A d
Ufy s vfy , — @ 30 cm

3.5b,  0.2\/f/b, 4

(2 X 1.27)(4200) (2 x 1.27)(4200) 53

3.5(30) 0.2v210(30) 4
= min[101.6 » 122.694 » 13.25 » 30 cm| = 13.25(cm)
Fut BFEET B~ S =13(cm)

Smax = min l

= min 30cm

2 4F %A4F ENCI R A ?i%.*f:}%':&« https://www.public.com.tw




